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ANSWER SHEET

TEST PAPER 21 ANSWERS:

“Practice makes progress”

All questions are one mark unless stated otherwise below.

rPlease mark boxes with a thin horizontal line like this =. —l

ENGLISH MAIN TEST

A A = A A= A
B B B B B
c c c c C =
D = D D D D
N N N = N N
A A A A A -
B = B B B B
c C =- C = c c
D D D D D
E E E E = E
A = A = A A A
B B B = B B
c c c c = c
D D D D D =
N N N N N

ENGLISH COMPREHENSION
A A A A A A= A
B B = B B B = B B
c c c c= c c c
D = D D = D D D D =
E E E E E E E

TransferTest.co.uk - Answer sheet

|— TransferTest —I



http://TransferTest.co.uk

I—Please mark boxes with a thin horizontal line like this =.

ENGLISH COMPREHENSION continued

E near perfect ! Bushmills
E geological phenomenon E 40,000
tearing up m retaliation

MATHS - MAIN TEST

30 31] 32 B 34 35 ]
A- | |A- 3| |A- 3| |A- | |A- L=y |A- Ll |A- -
B- —| |B- - | B- - B- —| |B- ]| |B- | |B- )
C- | |c- —| |c- —| |c- | |c- L1l |C- 1l |C- L
D- —| |D- —1| |D- —1| |D- - |D- 1 ID- 1| |D- -
E- - E- 1 |E- 1 |E- - E- 1 E- | E- —
36 37 33 3] 40} 41 42}
A- - A- | — A- (- A- (- A- - A- (- A- - A- ]
B- —| |B- 1| | g- —| |g- LR —| |g- —| |B- | [B-
C- — C- - C- - C- - C- — C- - C- — C- -
D- | —) D- D- (- D- (- D- — D- | — D- — D- 1
E- —| |- E- - E. | |- | |E- —| |E- E- —
4] 45 46 ] 7] B 49 50
A- |l A - Ll | A- I |A- | [A- | [A- — A L
B- = 1B- | |B- —| |B- | |B- = |B- —| |B- -
C- 1l |C- 1l |C- = |c- =] |C- Il |C- | |C- L
D- | — D- - D- - D- — D- | — D- — D- —
E- E- E- — E- — E- — E- — E- —
ﬁ 54cm? ﬁ 180 litres E19_6°C

m 12.8 km

55 P

a2m
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